FgArea: ['W1']
NC11 P6
2025-06-05 (Day 61)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AW W1
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PE6AW

BrE) | GEBAK @) | ERE(EH/AR) | EREE (G/R) [ XS R

07:45 320 160.0 0.314 5| FHAe07:45 KEIEFE CGRAEESE)
08:15 320 160.0 0.314 FA| hHR@08:15 KREIEHF (KAL)
08:55 320 160.0 0.314 FH| FnHA@08:55 KRFFEF (RAERER)
09:35 320 160.0 0.314 FR| FHA@09:35 KRENIZF (KRFAAIREES)
10:10 320 160.0 0.314 FA| iHR@10:10 KRAIEHF (RAKZER)
10:40 320 160.0 0.314 FR| FHA@10:40 KREFZF (KRFAEES)
11:10 320 160. 0 0.314 FH| FaBA@11:10 KRENIEF (RE{ERSE)
11:40 320 160.0 0.314 FA| FhHR@11:40 RHAMIEHF (RAKZESR)
12:10 320 160.0 0.314 FA| FnHf@12:10 KRFEF CRAERSE)
12:40 320 160.0 0.314 FR| FhHA@12:40 KREIZF (RAERES)
13:10 320 160.0 0.314 FA| hHR@13:10 KRHMIEHF (CRAKLESR)
13:40 320 160.0 0.314 FH| FnHA@13:40 KRFIEF CRAERSE)
14:10 320 160.0 0.314 FH| FnHf@14:10 KRFEF CGRAERS)
14:40 320 160.0 0.314 FH| FiHA@14:40 KREFEF (RAFEHE)
15:10 320 160.0 0.314 FA| FiHA@15:10 KREFEF (RAEHS)
15:40 320 160.0 0.314 FH| FnHf@15:40 KRFIEF CRAERS)
16:10 320 160.0 0.314 FH| FiHA@16:10 KREFEF (KAFERHE)
23t 5440.0 (170%) 2720.0 JEWHKEC: 2080.0, PH: 6.5

FHEKRECE (2143.0 vs 4775.0) 35




FRV (ml plant-1)

ET (ml/hr/plant)
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P6AW

BrE) | GEBAK(F) | ERE(EH/R) | EREE (G/R) [ XS R

08:05 320 160. 0 0.314 F|  {Ri%008:05 BHah (RF{EESE
08:35 320 160. 0 0.314 | 1Ri%e08:35 BE1 (RFAEREE)
09:10 320 160.0 0.314 = RRiB009:10 Bz (RAKEE)
09:40 320 160. 0 0.314 E BRi%e09:40 BE1 (RAERE)
10:10 320 160.0 0.314 F[ BRige10:10 Bz CGRAERESE)
10:40 320 160.0 0.314 = RRiB010:40 Bz (REAKEE)
11:10 320 160. 0 0.314 El BRige11:10 Bz CGRAERESE)
11:40 320 160. 0 0.314 = RiB011:40 Bah (GRAEESE)
12:10 320 160.0 0.314 =l RiB012:10 B3 (REAKEE)
12:40 320 160.0 0.314 5| RiRe12:40 Bz (GRAHERESE)
13:10 320 160.0 0.314 S| {Ri%e13:10 Bz (RAERSE)
13:40 320 160.0 0.314 | Ri%e13:40 B (GREfRREEE)
14:10 320 160. 0 0.314 E BRige14:10 Bz CGRAEESE)
14:40 320 160.0 0.314 = RiB014:40 Bah (RAEESE)
15:10 320 160.0 0.314 =l RRiBe15:10 Bz (REAEESE)
15:40 320 160.0 0.314 =l RRiB015:40 Bz (REAKEE)
16:10 320 160. 0 0.314 El BRi&e16:10 Bz CGRAEREE)
23t 5440.0 (170%) 2720.0 FEWHKEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE

MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

FEERECE (2187.0 vs 4598.0) i3



P6AW W1, Day=60 (2025-06—04)
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P6AW

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:55 320 160.0 0.314 = {RRi8007:55 Bah (RAEESE)
08:25 320 160.0 0.314 = {RRiB008:25 B (FRFAEEE)
09:10 320 160.0 0.314 =l RRi1B009:10 Bz (RAEEE)
09:45 320 160.0 0.314 = RRi8009:45 Bz (REAEESE)
10:20 320 160.0 0.314 =l RRi8010:20 B (RFAEEE)
10:50 320 160.0 0.314 =l RRiB010:50 Bzh (REAEEE)
11:20 320 160.0 0.314 =l BRiB011:20 B (GREAERESE)
11:50 320 160.0 0.314 =l {Rige11:50 B3 (RAERSE)
12:20 320 160.0 0.314 =l RiB012:20 Bz (REAKEE)
12:50 320 160.0 0.314 = RiB012:50 Bz (REAEESE)
13:20 320 160.0 0.314 E BRige13:20 Bz CGRAERESE)
13:50 320 160.0 0.314 = RRiB013:50 Bz (RAKEE)
14:25 320 160. 0 0.314 E BRige14:25 Bz (GRAERESE)
14:55 320 160.0 0.314 E BRige14:55 Bz GRAERESE)
15:25 320 160.0 0.314 =l RRiB015:25 B (REAKEE)
15:55 320 160.0 0.314 = RRiBe15:55 Bz (REAEEE)
2it]5120.0 (167%) 2560. 0 323 KEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE

MEREHER 2 STHAE RS (296.0 : 160.0), FAIREKREERE
BRIASERRIERE160. 0 ml.

FE[ERECE (2240. 0 vs 4490.0) i3
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P6AW

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

07:30 320 160.0 0.314 5| {Ri%@07:30 Bz (FAERSE)
08:05 320 160.0 0.314 = {RRiB008:05 Bz (FRFA{EEE)
08:50 320 160. 0 0.314 E  1BRi&e08:50 Bzl (RAEREE)
09:30 320 160.0 0.314 5| {Ri%@09:30 B3 (FAMERSE)
10:05 320 160.0 0.314 =l RRi8@10:05 Bz (RFAEESE)
10:40 320 160.0 0.314 = RRiB010:40 Bzh (REAEEE)
11:20 320 160.0 0.314 =l RiB011:20 B3 (RAEESE)
12:10 320 160.0 0.314 =l {Rige12:10 B3 (RAERSE)
12:40 320 160.0 0.314 =l RRiB012:40 Bz (REAKEE)
13:10 320 160.0 0.314 (2 =| Bige13:10 Bzh (REEREER)
13:40 320 160.0 0.314 [Z=| 1Bige13:40 Bzh (REERSE)
14:10 320 160.0 0.314 [ =| BRige14:10 Bzh (REERESE)
14:40 320 160. 0 0.314 |Z=| BRige14:40 Bz (GRAERESE)
15:10 320 160.0 0.314 |Z=| 1Ri&e15:10 Bzl (GRAEEE)
15:40 320 160.0 0.314 [ =| BRige15:40 Bzh (REERESE)
16:10 320 160.0 0.314 [Z=| 1BRige16:10 Bzh (REERESE)
2it]5120.0 (167%) 2560. 0 323 KEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE

MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

T [ERECE (2233.0 vs 4457.0) 5
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PE6AW

BrE) | GEBERTIC (B)) | EBE (EAH/#F) | EREE (B/R) | X8 R

10:15 320 160.0 0.314 [ =| 1Bige10:15 Bzh (REERESE)
12:20 320 160.0 0.314 FA| 1BRi%@12:20 B3h (KRAHEREE)
13:20 320 160.0 0.314 FA| 1B2i%@13:20 Bzh (kAIEREE)
14:20 320 160.0 0.314 FA| {Ri%@14:20 Bz (GRAEEE)
2it]1280.0 (4%) 640.0 FEWHKEC: 2080.0, PH: 6.5

BATHERA (0.93) , S |
EARHLEBE S MAERTY (296.0 : 160.0), AIALKEBERA

BRIASERRIERE160. 0 ml.

large discrepency for begining water status (307:138.0), set to 307 ml.
H#E[ERECZ (2200. 0 vs 4400.0) 35
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